T7h-Rwh (7978) M16 L=450
150 3000 3000 3000 150 /%:w
350 , 300/, 350
= =S| =8 4-D16
= == FG | N — 2
= - s - - = D10 @150 ~
= | N o
. 50 11150 i Sl
= 7vh=Fwk (7974) M16|1=450 - 5-D10 i 5
=300 =1 N = _H =
150 | | 150 150 ||| 150 —
== = 100 1000 100
F1¥
- \\\ga _ 185
= o)) ;g:;v‘rbwm M1§ L=450 ;ﬁ:;“rrwm M1§ L=450 o S roitnt o0 G L4580
“&fy &)y 2-D13 /M-:EM
# d D10 6300 =
B Trh=k 7o2f) W16 L=450 1000 - . % -
| ET F 1 H ||F1 H =
y g - 1000 | 300 | |100
D P = I I .y A el o
] g e Ea FG 13
| Emssex 130 |
6000 3000
9000
| EBKRX 160 |
IT=% RE&ENo. ZENo.
HEEZ wE :jc%é
[RRR—Z/NT R HHH 3040
" mmem - 2eren ol el e
SEMME S : 50 kN, /uf i AoDHATOAAY
#R 1 /60 | frBERE B 74 FEMTEKRRNSH




